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LOGIC .AND PHILOSOPHY

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS
Q. No. 1 carries I mark each : | 1x12 = 12
Q. Nos. 2 to 13 carry 2 marks each o 2x12 = 24
Q. Nos. 14 to 23 carry 4 marks each : 4x10 = 40
Q. Nos. 24 to 27 carry 6 marks each : 6x4 = 24

Total = 100
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as =12
1. Answer the following as directed : 1x12

Wﬁm@ﬁ?ﬁt‘f*ﬂiﬂﬁwm
frorrm RafiRestr Te e :
?ﬁmaﬁaﬁﬁ?ﬂﬁﬂ:

(a) Logic is an art / a science / both science and art.

( Choose the correct answer )

wRem 3 / R/ <o i R Serk |
(% Tl AR Sere )

wHRwm 7o / Rem [ 390 g Rew Tl
(7 T @R e )

' Hia |
Sfeffirm anf / Rifam / sig om fffem
| (vt e W' Rg )

(b) The copula of a proposition is in the past / present / future
' tense.
( Choose the correct answer )

e TS | T | SRS IS A |
A (% T AR Sferear )

W AR oG / T [/ SRYL I AT |
(o% el @z e )

sy o S <@ / G / T e
(% Frrmreh T’ g )
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(c) There is no distribution of term in proposition.

( Fill in the blank )
WS (FICAT ° I =Y |

(AR 31 o7t ¥ )
IS CICHT 1% [ =7 7 |
( FTRM <59 1 )
— TR S e aeeRsE |

(=t S eng @ )

(d) Either Radhakrishnan is a philosopher or a politician, It is an
example of disjunctive proposition / conjunctive proposition.

( Choose the correct answer )

am@wmqay«mﬁwﬁﬁﬁhsvmﬁrawﬁﬁﬁ%fndﬁﬁTﬁkﬁﬂq¢=mwﬁ /
FREAMEF 619 BRI |

(% S a1k Be )

(1 Remereh arra’n g )
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(e) In immediate inference, the conclusion is deduced from one /
two / three premise(s).
( Choose the correct answer )

TG e Praredt @b / o1 / b SRR o[ Ry
|
(8% Teh AR Sivear )

wmwmﬁmﬁ?m/ﬁfs/ﬁﬁwcwﬁr
ﬂl
(o= Tt ez s )

et 7@ gEm S S A8 [ A [ ieam -
TYTAHE A =
( 3 R W’ g )

(f) - The predicate of the conclusion of a syllogism is called major
term / minor term / middle term.

( Choose the correct answer )

TR SR PR Red Fgem /[ or%om [/ (9o Qe |
(&% BT AR SRhear )

7/

mmﬁwﬁmﬁﬂmﬁ/wm/@ﬁwmu
(8% T&l @ s )

I SRR SR e SdEard e Ve [ der dewn |
TRR AR A |
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(g} Mention any one valid mood of second figure.
R scgre R e @bt 2 9% e 14
R g @ e =i e 3 Soae v |
A <rerrafy Srafastrn R e ok

(h) What will be the truth-value of PV q,ifboth p and q are false?
quWWTA’Zﬁpvq?Wﬁ"{’??
p«ﬂ«qWﬂiW’{Cﬁpvq—mwﬁtm?
ﬂﬁp&lﬂq%tﬁﬁiﬁﬁwmpvqﬁmﬁﬁmmmﬂ?

(i) What is the derivative meaning of the word ‘epistemology’?
“Epistemology’ **i5R Jeeifere =gl & 9
‘Epistemology’ *ifbq eeifisrs &gl 7
‘Epistemology’ @Wyaf 13 siifran m?

() Who is the founder of Sarhkhya Philosophy?
IR T 2T e 2
ARY e et = 2
AT T T R

(k) State any one point of difference between Rationalism and
Empiricism.

R o wfwerE Trevs 1 R e B =N By w9 |
mma<W%meWmmmameWmu

e FR iRy v r
_ UNE SIERIST AR SReTYy
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() How many Pramanas are accepted in Nyaya Philosophy?
I TS (G 2 TR I W ?

S A T e TR I =2
Y FARPREFE AR THERE! THEEE SR

2. Write the name of two logicians who have contributed in the

development of modern logic.
- oy SR RIS ST SIRCERT 7o SR W o |
W{ﬁ?wﬁwmﬁmwmgmwﬁmmm,
e YRefifeE st R amm wR gReEii g /)

3. State two advantages of the use of symbols in logic.

Wﬁmefwﬂﬁmw«n
wHRE 28 IRER 1o FRY Ty I
SheRfrETE Y6 aerAEt 9E g /R

4. Classify proposition according to quality.
89 SFPIR I INRSEH I |
@ S IR IR T |
T A1 sy e W)

/424

(7)

S. Define class membership proposition with example,.

TIP3 STt 359 Sk fi |
THRAPIZ. N STTel 50T IR 71 |
Tt sh T e 1 AR B

6. Convert the following propositions :
TS sl I5ACIIT TG 1
Faffe e e v
TR AR S
(a) All philosophers are wise.

Fe AT =7 A |

R4 TN ZE = |
TS g S

(b) Some scientists are poets.

7. Define middle term with example.
BRI CRge v |
SRAPIR (ZGHITA STE S |
ST TR e R B
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8. Give an example of fallacy of four terms. 2
oYM (TR <51 SR fim |
So=ofl Ctiei @ fS Tl e |
e aRkEER TR A RRE

9. State two points of difference between logical constant and variables, 2

o SRTA WF RIGT T 1 nefF Somy = |
S RPN @R RICER TG G N S e
Iiri Rdm Y W™ B wRe Ry

10. Define conjunctive function with example.
THRAPIZ FRCAEF Ford Fedl fial |
THIRATPTR AT FoCd KR 718 |
TSR STy A g Rt e

1+1=2

11. Write the name of two empiricist philosophers.

& SR TR J # )
7o SfSWORIT TAiNCE AW ¢ |
T T e arliie | R

12. Define Parvavat Anumana with example.
TAIRIPTR <AL S e T o
THIRPTR A SR ST 7 |
T SR g e wre get R e

1+1=2
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13. What is realism? | 2
IR ¥ 2
IR 2
wreri @y T g

14. What is symbdlic logic? State two points of difference between
traditional logic and symbolic logic. 242=4

GBI oFREm P B @2 memee HRen S oSN
SEREIAT e FB1 <14 SHy 3991 |

AT HREH TS F AR RIS HREH R AN
SHRGIGR W4 B 1 SeE R |

ﬁqgﬁsﬁrﬁmmg@?ﬁmng%ﬁﬁmnmﬁaﬁgﬁsﬁﬁw
A SRy fRR)

15. Explain Four-fold Scheme of proposition. 4
o BRI R I 4 |

IS0 TR R wm e |
Tyt o et ave e SR {1

16. Reduce the following sentences into strict logical form : ' 4
o PR SEREFPTIS A TG 9 :
Wea IR TERBIPTIE 607 HelTea 7 -
TerR arerE JRERFEER SRk s e .
(a) Learned are honoured everywhere.
R s =¥ |
Ram 1 <@ |
iy IftE pRmmE

/424 [ Contd.



17.
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(b) Many persons are not present at the meeting,
I AR oIS Toifys it |
AT AW Feiice Feifys e |
T AR SHIET FemfRRaR |

{c) Nobody can do it.

FRAS G201 FRI EFENT |
(PYZ GBI FACS A 1 |
S T 9 g |

(d) Only gréduates are eligible for the post,

(R NS, % 974 R QG |
R TSR R R T I |
Graduates BRTe & TRF ar@m semafy

Define proposition according to traditional logic. Explain different

parts of a logical proposition. 1+3=4

Wﬂ@@ﬁwwﬁwwmﬁmmﬁmw%
RGN TG 3 |

Wﬂsmwmﬂmmumwm
RfSw wevesfor amam A |

Waﬁﬁﬁmﬁaﬁﬁmmﬁ?wm@@
AEPNBRE B foRl
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State any four general rules of pure categorical syllogism. 4

Rt feers e R @I vIRkG! e e Sy v )
i R AR @ e SR eRe R SoE 96 |
Tﬁmﬂ&mﬁmvﬁﬁmﬁnﬁm

Write a short note on figure of a syllogism. | 4
TRR FAEW T=oe$ qb1 5 Gt o |

T R T 3o wFre B oo o

=R e wmEE A R Rri

Reduce any one of the following syllogistic arguments into strict
logical form and test its validity : 4

FafRe Tm SR R @ e SR o SR 31
I R {3y P8 40

Rufle Tm wEmelE @ QI e SRS W ey
FA GR @7 @Iy Refy 341

mﬁmmﬁmmﬁﬁﬁﬁﬁmmﬁ

(a) Aristotle was a great logician, because he was a philosopher and
all great logicians are philosophers.

9RR5 9o e SR wike, IR ¢ o e S e
el SRR T |

wﬁmmwﬁww,wq%ﬁwwﬁaw
Fa Rare w$Rvg v 1

mmmw@m,mﬁwmmmm
IRrafeam e arefiiy)
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(b) He is not superstitious, because uneducated persons are
~ superstitious and he is not uneducated.

» @éwﬁwﬁm,ﬁwwwﬁ%ﬂwwﬁﬁvm;@éwﬁﬁm
= .

%ﬁwmﬁm,mqﬁﬁﬁmrwﬁmﬁaaaﬁﬁ%mn

mmmmmmrﬁﬁmmw
AR i Wetem MR e

21. Write a short note on metaphysics.
SR STercE @f® o G v |
SRR oo qof Swefres i coea |
Aedeniearify @Rt ged Rw

22. Explain any four characteristics of Indian philosophy.
SRS P R I ST tafiEs 2
SRR PR (7 TN B cafiE T |
AR Wty St e smEa R

23. Distinguish between Svarthanumana and Pararthanumana,
TG A SRR TS N1 e |

T 93RRI T4 =N o1 |

e FRREN fam (Svarthdnumana) AR BRARREIR fram
(Pararthanumana)f e wrm =)
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~

24. What is the derivative meaning of the word ‘logic’? Discuss the utility
of the study of logic. . 2+4=6

‘Logic’ *=ebR Jeoifore wd R wRem e Secaor Ry
ST 4 |

‘Logic’ *mifby eifesre vy §7 Rwm smem Sorafon Ra
HCAGA FEA | |

‘Logic’ @dafy 7 sitrn m? gRefamf RfY arird amm)
Or / %31/ &3 / Tt

Define proposition according to modern logic. Explain different
forms of compound proposition with example. 2+4=6

mqﬁ@wmmwaﬂﬁww@ﬁw@mwﬁﬁﬂﬁw
THIRAR CTCS /101 ¥4 |

WWWW~WW@TW@I@%W%W
SHIZRPTE, N I |

Wgﬁﬁ%ﬁaﬂﬁmﬁﬁwmﬁuww@@
YEmHIE! RS SRR

25. Define syllogism. Describe the structure of pure categorical
syllogism. 2+4=6

TR Fw! fran | iR Feers R o 3o =
IR AN 718 | SR AT IR 15 3671 37 |
AR gy Rl T e Y qreme Tew SR fw
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Or / %31 / %1 / e 27. What is Rationalism? How does Locke criticise Descartes’ innate
Give examples of each of the valid moods of the third figure. 6 - 1deas? Discuss. ) 1+5=6
PO I 2R 294 IR B Sl o | » I B2 A R o wWeTe 4Ren TIETST IReR, WA
PO AR 2 b4 YR e e e e A |
mwﬁmmmﬁmmal | mizm?w@mwﬁawmmmwm,

26. Describe the characteristics of symbolic logic. | 6 Herent= A gE17 TH AER TERA 3RETR THRRE Rfve! YRR |
CULE R RS —— Or / 711 / 31 / war |
;s‘T gﬁgﬁ,ﬁqﬁ mm%l What is Idealism? Explain any four characteristics of Idealism. 2+4=6
CRRM I QAN ? ORRAME R @ wifko1 ¢a8y g 37 1

Or /R SRAM INF 0 2 SRR 1 TN DA L <71 ] |
o 1 S e oY oot | e () 1 S s e
contingent : gy-, contrad1°t°T2y+ 20-:2=6 I HrAEAT for| .
Wﬁmmwwﬁm%ﬁmwwmw e
SIF CIRPTR FosTe, oA 1 SRFRTARAR Ry 3 :

ﬁwﬁ%wwcﬁcmmmﬁﬂﬁawwﬁmm
«:m‘i@ﬁwm@,w:ﬁwﬂmwﬁﬁ‘ﬁmﬁmmﬁwm: A
TR B YRR HehRRASE STrfesy HuTafy

wmaﬁ@wmmmﬁmmﬁw

(a) (p-g)-(p>~q) i

(b) ~pvig>o~p)
Ac) (pDgl=(~qg>D~p)
(d) pD(p-q)
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